



On the ergodicity conditions of the hitting point process
of the semi-homogeneous, zero-drift random walk on
the first quadrant

J.W. Cohen

Department of Operations Research, Statistics, and System Theory

Note BS-N9301 March 1993

CWI is the National Research Institute for Mathematics and Computer Science. CWI is part of the Stichting Mathematisch Centrum (SMC), the Dutch foundation for promotion of mathematics and computer science and their applications. SMC is sponsored by the Netherlands Organization for Scientific Research (NWO). CWI is a member of ERCIM, the European Research Consortium for Informatics and Mathematics.

Copyright © Stichting Mathematisch Centrum
P.O. Box 4079, 1009 AB Amsterdam (NL)
Kruislaan 413, 1098 SJ Amsterdam (NL)
Telephone +31 20 592 9333
Telefax +31 20 592 4199

On the Ergodicity Conditions of the Hitting Point Process of the Semi-Homogeneous, Zero-Drift Random Walk on the First Quadrant

J.W. Cohen

CWI

P.O. Box 4079, 1009 AB Amsterdam, The Netherlands

Abstract

This note corrects a flaw in a part of the proof of the ergodicity conditions for the hitting point process as presented in [1]; the theorem II.2.7.1 in [1] formulating these conditions is correct.

AMS Subject Classification (1991): 60J15

Keywords & Phrases: random walk, zero drift, hitting point process, ergodicity conditions.

1. INTRODUCTION

In section II.2.5 of [1] the hitting point process $\{\mathbf{k}_m, m = 1, 2, \dots\}$ of the semi-homogeneous random walk on the first quadrant has been introduced. Here

$$\mathbf{k}_m = (\mathbf{k}_m^{(1)}, \mathbf{k}_m^{(2)}), \quad \mathbf{k}_m^{(1)}\mathbf{k}_m^{(2)} = 0, \quad (1.1)$$

is the m th hitting point of the random walk with its boundary, which is formed by the lattice points of the coordinate axes of the first quadrant.

In section II.2.7 the ergodicity conditions for the \mathbf{k}_m -process of the random walk with *zero drift* have been investigated and formulated in theorem II.2.7.1. As it has been pointed out to the author by Professor Stam the proof of that theorem is not complete. In the present note we shall complete the proof of theorem II.2.7.1; the formulation of this theorem is correct.

We first introduce some notation and remark that for symbols used here but not defined here the reader is referred to [1], similarly for the various assumptions. In this introduction we shall point out where the flow in the proof in [1] occurs.

Put for $m = 1, 2, \dots$,

$$K_m^{(0)} := \Pr\{\mathbf{k}_m^{(1)} = \mathbf{k}_m^{(2)} = 0\}, \quad (1.2)$$

$$K_m^{(1)} := \Pr\{\mathbf{k}_m^{(1)} > 0, \mathbf{k}_m^{(2)} = 0\},$$

$$K_m^{(2)} := \Pr\{\mathbf{k}_m^{(1)} = 0, \mathbf{k}_m^{(2)} > 0\};$$

so $K_m^{(0)}$ is the probability that the m th hitting point occurs at $(0, 0)$, $K_m^{(1)}$ ($K_m^{(2)}$) that it occurs at the positive horizontal (vertical) axis. Whenever the \mathbf{k}_m -process is positive recurrent then since it has been assumed in [1] that the random walk is aperiodic it is readily shown that the following limits exist and are positive.

$$\begin{aligned} K_j(1) &:= \lim_{m \rightarrow \infty} K_m^{(j)}, \quad j = 1, 2, \\ K_0 &:= \lim_{m \rightarrow \infty} K_m^{(0)}, \end{aligned} \quad (1.3)$$

and

Report BS-N9301

ISSN 0924-0659

CWI

P.O. Box 4079, 1009 AB Amsterdam, The Netherlands

$$K_0 + K_1(1) + K_2(1) = 1. \quad (1.4)$$

In [1] the relations, cf. (II.2.7.9),

$$\nu_0 K_0 + \nu_1 K_1(1) + (\nu_2 - 1) K_2(1) = 0, \quad (1.5)$$

$$\mu_0 K_0 + (\mu_1 - 1) K_1(1) + \mu_2 K_2(1) = 0,$$

have been derived from the functional relation (II.2.7.3). Actually this derivation only leads to (1.5) if the \mathbf{k}_m -process is positive recurrent. If it is not positive recurrent then $K_0 = 0$ and $K_1(\hat{p}_1), K_2(\hat{p}_2)$ both tend to zero for $\hat{p}_1 \rightarrow 1$, and so (II.2.7.3) provides in the limiting case no information, a fact which has unfortunately been overseen in the derivation of (II.2.7.9). Hence, no conclusions can be drawn from (1.4) and (1.5) to distinguish the null and nonrecurrent case.

To obtain the correct relations for the case that the \mathbf{k}_m -process is null or nonrecurrent, see the relations (2.9) below, one has to start from (II.2.5.17), by letting $\hat{p}_1 \rightarrow 1$ and then by equating to zero the coefficients of q^m in the series expansion of (II.2.5.17) into powers of q . However these relations (2.9) can be obtained more directly by starting from theorem II.2.4.4, as it will be shown in the next section.

2. ON THE PROOF OF THE ERGODICITY CONDITIONS

If the \mathbf{k}_m -process is positive recurrent then the limits in (II.2.7.2) are nonzero and it follows, as in section II.2.7, that

$$\nu_0 K_0 + \nu_1 K_1(1) + (\nu_2 - 1) K_2(1) = 0, \quad (2.6)$$

$$\mu_0 K_0 + (\mu_1 - 1) K_1(1) + \mu_2 K_2(1) = 0,$$

$$K_0 + K_1(1) + K_2(1) = 1, \quad (2.7)$$

with

$$K_0 > 0, K_1(1) > 0, K_2(1) > 0. \quad (2.8)$$

The relations (2.1) and (2.3) are not compatible if $\mu_1 \geq 1$ or $\nu_2 \geq 1$ or $D \leq 0$, where D is defined by

$$D := (1 - \mu_1)(1 - \nu_2) - \mu_2 \nu_1. \quad (2.9)$$

Hence

$$\mathbf{k}_m = "+" \Rightarrow \mu_1 < 1, \nu_2 < 1, D > 0, \quad (2.10)$$

where $\mathbf{k}_m = "+"$ indicates that the \mathbf{k}_m -process is positive recurrent, analogously $\mathbf{k}_m = "0"$ and $\mathbf{k}_m = "-"$ stand for null- and nonrecurrent, see [1].

Next we derive a set of relations for the probabilities defined in (1.2). Suppose, cf. (II.2.1.19), that

$$\mathbf{k}_m^{(1)} > 0, \mathbf{k}_m^{(2)} = 0, \quad \text{at hitting time } \mathbf{t}_m, \quad (2.11)$$

so that $\mathbf{k}_{m+1} = (\mathbf{k}_{m+1}^{(1)}, \mathbf{k}_{m+1}^{(2)})$ is the $(m+1)$ th hitting point of the boundary in the zero drift random walk starting at the point

$$(\mathbf{k}_m^{(1)} + \boldsymbol{\xi}_{\mathbf{t}_{m+1}} - 1, \mathbf{k}_m^{(2)} + \boldsymbol{\eta}_{\mathbf{t}_{m+1}}^{(1)}).$$

By using theorem II.2.4.4.ii it follows that

$$\mathbb{E}\{\mathbf{k}_{m+1}^{(1)} - \mathbf{k}_m^{(1)} | \mathbf{k}_m^{(1)} > 0, \mathbf{k}_m^{(2)} = 0\} = \mu_1 - 1, \quad (2.12)$$

$$\mathbb{E}\{\mathbf{k}_{m+1}^{(2)} - \mathbf{k}_m^{(2)} | \mathbf{k}_m^{(1)} > 0, \mathbf{k}_m^{(2)} = 0\} = \nu_1.$$

Analogously

$$E\{\mathbf{k}_{m+1}^{(1)} - \mathbf{k}_m^{(1)} | \mathbf{k}_m^{(1)} = 0, \mathbf{k}_m^{(2)} > 0\} = \mu_2, \quad (2.13)$$

$$E\{\mathbf{k}_{m+1}^{(2)} - \mathbf{k}_m^{(2)} | \mathbf{k}_m^{(1)} = 0, \mathbf{k}_m^{(2)} > 0\} = \nu_2 - 1,$$

$$E\{\mathbf{k}_{m+1}^{(1)} - \mathbf{k}_m^{(1)} | \mathbf{k}_m^{(1)} = 0, \mathbf{k}_m^{(2)} = 0\} = \mu_0,$$

$$E\{\mathbf{k}_{m+1}^{(2)} - \mathbf{k}_m^{(2)} | \mathbf{k}_m^{(1)} = 0, \mathbf{k}_m^{(2)} = 0\} = \nu_0.$$

Hence it follows from (1.2), (2.7) and (2.8) that for $m = 1, 2, \dots$,

$$\nu_0 K_m^{(0)} + \nu_1 K_m^{(1)} + (\nu_2 - 1) K_m^{(2)} = E\{\mathbf{k}_{m+1}^{(2)} - \mathbf{k}_m^{(2)}\}, \quad (2.14)$$

$$\mu_0 K_m^{(0)} + (\mu_1 - 1) K_m^{(1)} + \mu_2 K_m^{(2)} = E\{\mathbf{k}_{m+1}^{(1)} - \mathbf{k}_m^{(1)}\},$$

$$K_m^{(0)} + K_m^{(1)} + K_m^{(2)} = 1. \quad (2.15)$$

Put

$$\tilde{D} := D + \mu_0(1 + \nu_1 - \nu_2) + \nu_0(1 + \mu_2 - \mu_1). \quad (2.16)$$

Obviously, the ergodicity conditions for the \mathbf{k}_m -process are independent of μ_0 and ν_0 if at least $\mu_0 > 0$ or $\nu_0 > 0$; if $\mu_0 = \nu_0 = 0$ then the state $(0,0)$ is absorbing. Hence in investigating the ergodicity conditions it is no restriction to assume that

$$\tilde{D} \neq 0. \quad (2.17)$$

It is also not a restriction to assume that

$$\mathbf{k}_1^{(1)} = 0, \quad \mathbf{k}_2^{(2)} = 0, \quad (2.18)$$

as it will be done in the following analysis, it implies that $(0,0)$ is the starting point of the \mathbf{k}_m -process.

From (2.9),..., (2.12) it follows for $m = 1, 2, \dots$,

$$\tilde{D} K_m^{(0)} = (1 + \nu_1 - \nu_2) [E\{\mathbf{k}_{m+1}^{(1)} - \mathbf{k}_m^{(1)}\}] + (1 + \mu_2 - \mu_1) [E\{\mathbf{k}_{m+1}^{(2)} - \mathbf{k}_m^{(2)}\}] + D. \quad (2.19)$$

Hence from (2.13) and (2.14); for $m = 1, 2, \dots$,

$$\tilde{D} \sum_{h=1}^m K_h^{(0)} = (1 + \nu_1 - \nu_2) E\{\mathbf{k}_{m+1}^{(1)}\} + (1 + \mu_2 - \mu_1) E\{\mathbf{k}_{m+1}^{(2)}\} + m D, \quad (2.20)$$

or equivalently, cf. (2.11), for $m = 1, 2, \dots$,

$$D[-m + \sum_{h=1}^m K_h^{(0)}] = (1 + \nu_1 - \nu_2) [E\{\mathbf{k}_{m+1}^{(2)}\} - \mu_0 \sum_{h=1}^m K_h^{(0)}] + \quad (2.21)$$

$$+ (1 + \mu_2 - \mu_1) [E\{\mathbf{k}_{m+1}^{(1)}\} - \nu_0 \sum_{h=1}^m K_h^{(0)}]. \quad (2.22)$$

Because $1 > K_m^{(0)} \geq 0$, $m = 1, 2, \dots$, it follows from

$$\frac{1}{m+1} \sum_{h=1}^{m+1} K_h^{(0)} - \frac{1}{m} \sum_{h=1}^m K_h^{(0)} = \frac{-1}{m+1} \frac{1}{m} \sum_{h=1}^m K_h^{(0)} + \frac{1}{m+1} K_{m+1}^{(0)},$$

that the following limit exists and

$$1 \geq \lim_{m \rightarrow \infty} \frac{1}{m} \sum_{h=1}^m K_h^{(0)} \geq 0. \quad (2.23)$$

The random walk has been assumed to be aperiodic, cf. section II.2.1, and so the \mathbf{k}_m -process is aperiodic, so that $K_m^{(0)}$ has a limit for $m \rightarrow \infty$ and it is wellknown that, cf. [2], p. 155,

$$\lim_{m \rightarrow \infty} K_m^{(0)} = \lim_{m \rightarrow \infty} \frac{1}{m} \sum_{h=1}^m K_h^{(0)}, \quad (2.24)$$

and

$$\mathbf{k}_m = \text{"-"} \vee \text{"0"} \iff \lim_{m \rightarrow \infty} K_m^{(0)} = 0. \quad (2.25)$$

From (2.9), (2.13) and (2.18) it follows that

$$v_0 \lim_{m \rightarrow \infty} K_m^{(0)} + v_1 \lim_{m \rightarrow \infty} \frac{1}{m} \sum_{h=1}^m K_h^{(1)} + (v_2 - 1) \lim_{m \rightarrow \infty} \frac{1}{m} \sum_{h=1}^m K_h^{(2)} = \lim_{m \rightarrow \infty} \frac{1}{m} E\{\mathbf{k}_m^{(2)}\}, \quad (2.26)$$

$$\mu_0 \lim_{m \rightarrow \infty} K_m^{(0)} + (\mu_1 - 1) \lim_{m \rightarrow \infty} \frac{1}{m} \sum_{h=1}^m K_h^{(1)} + \mu_2 \lim_{m \rightarrow \infty} \frac{1}{m} \sum_{h=1}^m K_h^{(2)} = \lim_{m \rightarrow \infty} \frac{1}{m} E\{\mathbf{k}_m^{(1)}\}.$$

$$\lim_{m \rightarrow \infty} K_m^{(0)} + \lim_{m \rightarrow \infty} \frac{1}{m} \sum_{h=1}^m K_h^{(1)} + \lim_{m \rightarrow \infty} \frac{1}{m} \sum_{h=1}^m K_h^{(2)} = 1,$$

the existence of the limits in the lefthand side of (2.20) follows as before, and retains the existence of the limits in the righthand side of (2.20).

From (2.15) and (2.18) it follows that

$$\tilde{D} \lim_{m \rightarrow \infty} K_m^{(0)} = D + (1 + v_1 - v_2) \lim_{m \rightarrow \infty} \frac{1}{m} E\{\mathbf{k}_{m+1}^{(1)}\} + (1 + \mu_2 - \mu_1) \lim_{m \rightarrow \infty} \frac{1}{m} E\{\mathbf{k}_{m+1}^{(2)}\}. \quad (2.27)$$

Because, cf. (2.11),

$$D > 0, \quad \mu_1 \leq 1, \quad v_2 \leq 1 \Rightarrow \tilde{D} > 0, \quad \mu_1 < 1, \quad v_2 < 1, \quad (2.28)$$

it follows from (2.21) that

$$D > 0, \quad \mu_1 < 1, \quad v_2 < 1 \Rightarrow \lim_{m \rightarrow \infty} K_m(0) > 0 \iff \mathbf{k}_m = \text{"+"}. \quad (2.29)$$

Consequently we have from (2.5) and (2.23),

$$\mathbf{k}_m = \text{"+"} \iff D > 0, \quad \mu_1 < 1, \quad v_2 < 1. \quad (2.30)$$

Next we consider the case with

$$D = 0, \quad \mu_1 < 1, \quad v_2 < 1. \quad (2.31)$$

It then follows from (2.16) that: for $m = 1, 2, \dots$,

$$(1 + v_1 - v_2) \left[\frac{E\{\mathbf{k}_{m+1}^{(1)}\}}{\sum_{h=1}^m K_h^{(0)}} - \mu_0 \right] + (1 + \mu_2 - \mu_1) \left[\frac{E\{\mathbf{k}_{m+1}^{(2)}\}}{\sum_{h=1}^m K_h^{(0)}} - v_0 \right] = 0, \quad (2.32)$$

and since the quotients are not negative

$$0 < \lim_{m \rightarrow \infty} \frac{E\{\mathbf{k}_{m+1}^{(j)}\}}{\sum_{h=1}^m K_h^{(0)}} < \infty. \quad (2.33)$$

Put

$$\tilde{\mathbf{k}}_m := \mathbf{k}_m^{(1)} + \mathbf{k}_m^{(2)}, \quad m = 1, 2, \dots, \quad (2.34)$$

so that, cf. (1.1), for $n = 1, 2, \dots$,

$$\Pr\{\tilde{\mathbf{k}}_m = n\} = \Pr\{\mathbf{k}_m^{(1)} = n, \mathbf{k}_m^{(2)} = 0\} + \Pr\{\mathbf{k}_m^{(1)} = 0, \mathbf{k}_m^{(2)} = n\}. \quad (2.35)$$

From (2.24) it follows that

$$D = 0, \quad \mu_1 < 1, \quad \nu_2 < 1 \Rightarrow \mathbf{k}_m = \text{"0"} \vee \text{"—"}. \quad (2.36)$$

Suppose that

$$\mathbf{k}_m = \text{"—"}, \quad (2.37)$$

i.e. the \mathbf{k}_m -process is nonrecurrent, so, cf. (2.13),

$$\sum_{m=1}^{\infty} \Pr\{\tilde{\mathbf{k}}_m = n | \tilde{\mathbf{k}}_1 = 0\} < \infty, \quad n = 1, 2, \dots$$

Hence, since $\tilde{\mathbf{k}}_m \geq 0$, it follows that $\tilde{\mathbf{k}}_m \rightarrow \infty$ with probability one, and so

$$E\{\liminf \tilde{\mathbf{k}}_m\} = \infty. \quad (2.38)$$

Application of the Fatou-Lebesgue theorem leads to, note that $\tilde{\mathbf{k}}_m \geq 0$,

$$E\{\liminf \tilde{\mathbf{k}}_m\} \leq \liminf E\{\tilde{\mathbf{k}}_m\}; \quad (2.39)$$

so from (2.32)

$$\liminf E\{\tilde{\mathbf{k}}_m\} = \infty. \quad (2.40)$$

Consequently, (2.27), (2.28) and (2.34) imply that

$$\sum_{h=1}^m K_h^{(0)} \rightarrow \infty \quad \text{for} \quad m \rightarrow \infty. \quad (2.41)$$

i.e. the \mathbf{k}_m -process is recurrent. However, this conclusion contradicts (2.31). Hence from (2.30) it follows that

$$D = 0, \quad \mu_1 < 1, \quad \nu_2 < 1 \Rightarrow \mathbf{k}_m = \text{"0"}. \quad (2.42)$$

Note that it follows from (2.20) for the case described in (2.25), since (2.36) implies that $K_m^{(0)} \rightarrow 0$ for $n \rightarrow \infty$, that

$$\lim_{m \rightarrow \infty} \frac{1}{m} \sum_{h=1}^m K_h^{(1)} = \frac{1 - \nu_2}{1 + \nu_1 - \nu_2}, \quad (2.43)$$

$$\lim_{m \rightarrow \infty} \frac{1}{m} \sum_{h=1}^m K_h^{(2)} = \frac{1 - \mu_1}{1 + \mu_2 - \mu_1},$$

$$\lim_{m \rightarrow \infty} \frac{1}{m} E\{\mathbf{k}_m^{(j)}\} = 0, \quad j = 1, 2. \quad (2.44)$$

Next we consider the case

$$\mathbf{k}_m = \text{“—”}, \quad \mu_1 < 1, \quad \nu_2 < 1. \quad (2.45)$$

So in this case the \mathbf{k}_m -process is nonrecurrent i.e.

$$\sum_{h=1}^{\infty} K_m^{(0)} < \infty, \quad (2.46)$$

and as above it follows by using the Fatou-Lebesgue theorem that (2.32) also applies here. Hence from (2.16) it is seen by letting $m \rightarrow \infty$ that we should have $D < 0$, if (2.38) holds, i.e.

$$\mathbf{k}_m = \text{“—”}, \quad \mu_1 < 1, \quad \nu_2 < 1 \implies D < 0. \quad (2.47)$$

Hence it is readily seen from (2.24), (2.36) and (2.40) that

$$\text{if } \mu_1 \leq 1 \text{ or } \nu_2 \geq 1 \quad \text{then } \mathbf{k}_m = \text{“—”}, \quad (2.48)$$

$$\begin{array}{lll} \text{if } \mu_1 < 1, \nu_2 < 1 & & \\ \text{and } D < 0 & ,, & \mathbf{k}_m = \text{“—”}, \\ D = 0 & ,, & = \text{“0”}, \\ D > 0 & ,, & = \text{“+”}, \end{array}$$

and actually (2.41) is the content of theorem II.2.7.1 concerning the \mathbf{k}_m -process.

Finally, it is noted that if the \mathbf{k}_m -process is nonrecurrent then from (2.20) it follows: for $D < 0$, $\mu_1 < 1$, $\nu_2 < 1$,

$$\lim_{m \rightarrow \infty} \frac{1}{m} \sum_{h=1}^m K_h^{(1)} = \frac{1 - \nu_2}{-D} \lim_{m \rightarrow \infty} \frac{1}{m} E\{\mathbf{k}_{m+1}^{(2)}\} + \frac{\mu_2}{-D} \lim_{m \rightarrow \infty} E\{\mathbf{k}_{m+1}^{(1)}\}, \quad (2.49)$$

$$\lim_{m \rightarrow \infty} \frac{1}{m} \sum_{h=1}^m K_h^{(2)} = \frac{\nu_1}{-D} \lim_{m \rightarrow \infty} \frac{1}{m} E\{\mathbf{k}_{m+1}^{(2)}\} + \frac{1 - \mu_1}{-D} \lim_{m \rightarrow \infty} E\{\mathbf{k}_{m+1}^{(1)}\},$$

$$\frac{1 + \nu_1 - \nu_2}{-D} \lim_{m \rightarrow \infty} \frac{1}{m} E\{\mathbf{k}_{m+1}^{(2)}\} + \frac{1 + \mu_2 - \mu_1}{-D} \lim_{m \rightarrow \infty} \frac{1}{m} E\{\mathbf{k}_{m+1}^{(1)}\} = 1.$$

ACKNOWLEDGEMENT .

The author is indebted to Professor Stam for his attention and remarks concerning the proof of theorem II.2.7.1.

REFERENCES

1. COHEN J.W. Analysis of Random Walks, IOS Press, Amsterdam, 1992.
2. WHITTAKER, E.T. and WATSON, G.N., A Course of Modern Analysis, University Press, Cambridge, 1946.